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Seat No.: _____                                                      Enrolment No.______ 
   

GUJARAT TECHNOLOGICAL  UNIVERSITY 
Diploma Engineering Sem-VI Examination May 2011 

Subject code:361911 

Subject Name: Advance Machine  Design 
Date:23/05/2011                            Time: 02.30 pm – 05.00 pm  

 Total Marks: 70 

Instructions: 
1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks. 

4. English version is Authentic 
 

Q.1 (a) What  is machine design ? Write steps of ‘general procedure’ in  machine design. 06 

 (b) Discuss all  Endurance limit modifying factors. 

 
08 

Q.2 (a) A plate 100 mm wide and 12.5  mm thick is to be welded to another plate by means 

of parallel fillet welds.  The joint is subjected to a static  load of  50 kN.  Find the 

length  of the weld  so that the maximum stress  is not to exceed 56 Mpa. 

07 

 (b) Write Design considerations in design of  I.C. engine piston 

 

07 

  OR  

 (b) Write Design considerations in design of  I.C. engine Connecting rod 
 

07 

 Q.3 (a) A bronze spur pinion rotating at 600 R.P.M. drives a C.I.  spur gear at a transmission 

ratio of  4:1. The allowable static stresses for bronze pinion and C.I. gear are  84 Mpa 

and 105 Mpa respectively.  The pinion has 16  standard 20
0
 full depth involute teeth 

of module 8 mm. The face width of both the gears is 90 mm. Find the power that can 

be transmitted from the stand point of strength. 

08 

 (b) Define ‘Circular pitch’, ‘Diametral pitch’, and ‘Module’ of gear. 

 
06 

  OR  

Q.3 (a) Following  data refers to a single dry  plate clutch:   

Power transmitted  P  7.5 kW 

Speed   N  900 R.P.M. 

Pressure betn. Plates      p                        0.07      N/mm
2 

Coefficient of friction   m                        0.25 

Find   inner and outer radii  - ro  and  ri  of   clutch plate, if  ratio of mean radius to 

face width  of plate is  4.   

08 
 
 
 
 
 

 (b) Write the important properties of material for  brake lining.  06 

    

  Q.4 (a) 
 
 
 
 
 
 
 
 

Mark True or False. Correct the statement if it is False 

          include<iostream>                            T/F 

          int main();                                         T/F 

          float n1,n2                                         T/F 

          int count;                                           T/F 

          return 0                                              T/F 

          count=count +1                                 T/F 

          average=sum/total                             T/F 

07 

 (b) Write a C++ program to find moment of inertia o a circle (p/64*(d
4
))by defining a 

proto-type function moi(). User will input the value of diameter as function 
argument.  

07 
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OR 

Q.4 (a) Explain ‘if ….else’ statement in C++ with suitable example. 07 

 (b) Explain  basic concept of Object Oriented Programming. 

 

07 

Q.5 (a) Explain ‘switch…. Case’  statement in C++ with suitable example. 07 

 (b) Write  short note on photo-elasticity and stress analysis 

 

07 

  OR 07 

Q.5 (a) Explain con-current engineering concept. 07 

 (b) Write short note on DFM (Design For Manufacture) and DFA 

(Design For Assembly). 

07 

 

 

5|`Gv!5|`Gv!5|`Gv!5|`Gv!    V મશીન ડ�ઝાઇન � ં છે ુ ? મશીન �ડઝાઈન ની સામા�ય ર�ત ના પગથીયા ંલખો. 06 

 A બધા જ એ�ડ"ોર�સ લીમીટ મોડ�ફાય%ગ ફક'સ(ની ચચા( કરો* . 0� 

5|`GvZ5|`GvZ5|`GvZ5|`GvZ    V એક ૧૦૦ મીમી પહોળ� અને ૧૨.૫ મીમી 2ડ� 3લેટને બી4 3લેટ સાથે 

સમાતંર ફ�લેટ વે6ડ%ગ જો7ટથી જોડવાની છે. જો7ટ પર ૫૦ kN નો ભાર  

લાગે છે. જો મહ9મ :;સ * ૫૬ Mpa થી વધ= ંન હોય તો વે6ડ%ગની લબંાઇ ુ

શોધો. 

07 

 A આઇ. સી. એ�4નના પી:ટન ડ�ઝાઇન માટના ?યાનમા ંલેવાના * ક�સીડરશનો *

સમ2વો.   

07 

  VYJFVYJFVYJFVYJF  

 A આઇ. સી. એ�4નના કને@ટ%ગ રોડની ડ�ઝાઇન માટના ?યાનમા ંલેવાના *

ક�સીડરશનો સમ2વો* .   

07 

       

5|`Gv#5|`Gv#5|`Gv#5|`Gv# V એક ૬૦૦ R.P.M. ફર= ુંABઝ :પર પીનીયન એક સી.આઇ. :પર ગીયરને ૪: ૧ 

ના ;ાશંમીશન Dણોતરથી ફરવે છેુ * . ABઝ પીનીયન સી.આઇ. ગીયરના 

એલાવેબલ :ટટ�* ક :;સ  અFGમે * ુ ૮૪ અને ૧૦૫ છે. પીનીયનને ૮ મોડIલના ુ

૨૦૦ ના Jલ ડ3થ ઇનવો6Kટ સી:ટમના * ુ ૧૬ દાતંા છે. બMે ગીયરની 2ડાઇ 

૯૦ મીમી છે. તો તાકાતની O:ટ�એ આ ગીયરની જોડ� કટલો પાવર * ;�સમીટ 

કરશે તે શોધો.  

08 

 A ગીયરની સP(લર પીચુ , ડાયામે;લ પીચ, અને મોડIલ ની QયાRયા આપોુ .  06 

  VYJFVYJFVYJFVYJF  

5|`Gv#5|`Gv#5|`Gv#5|`Gv#    V એક સ%ગલ Sાય 3લેટ @લચ માટનો ડટા નીચે Tમાણે છે* * . 

      પાવર                        ૭.૫  

      આર. પી. એમ.               ૯૦૦ 

      3લેટો વVચેF ંદબાણ         ુ ૦.૦૭           N/mm
2
 

      ઘષ(ણાકં                      ૦.૨૫ 
 

જો 3લેટ ની સરરાશ િZ[યા અને ફસ વી\થ નો Dણો9ર * ુ* ૪ હોય તો 3લેટની 

]દરની અને બહારની િZ[યા શોધો. 
                

08 

 A Aેક લાઇન%ગ ના મટ�ર�યલના અગ_યના Dણધમ`  લખોુ .   06 
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5|`Gv$5|`Gv$5|`Gv$5|`Gv$ V સાa/ુઅથવા ખોcં દશા(વોુ . જો ખોcં હોય તો ફર� સાa લખોુ ુ . 
          include<iostream>                            T/F 

          int main();                                         T/F 

          float n1,n2                                         T/F 

          int count;                                           T/F 

          return 0                                              T/F 

          count=count +1                                 T/F 

          average=sum/total                             T/F
 

07 

 બ    
    

moi () Tોટો-ટાઇપ ફ@શન બનાવી વ=(ળની મોમે�ટ ઓફ ઇનશhયાં ુ (p/64*(d
4
)) 

શોધવા માટનો  Tોiામ લખો* . jમા ં Kઝર  Qયાસની �કkમત Tોટોુ -ટાઇપ 

ફ@શનમા ંઆlK(મે�ટ તર�ક  એ�ટર કરશેં ુ * .  

07 

     VYJFVYJFVYJFVYJF  

5|`Gv$5|`Gv$5|`Gv$5|`Gv$ V   

   
દાખલા સાથે ‘if ….else’ :ટટમે�ટ  સમ2વો* . 07 

 

    બ ઓબj@ટ ઓર�એ�'ડ Tોiામ%ગ નો mRય િવચાર સમ2વોુ .   07 

 

5|`Gv55|`Gv55|`Gv55|`Gv5    V દાખલા સાથે ‘switch…. Case’  :ટટમે�ટ  સમ2વો* . 07 

 બ ફોટો ઇલા:ટ�સીટ� અને :;સ એનાલીસીસ પર cંકનBધ લખો* ૂ . 07 

  VYJFVYJFVYJFVYJF  

5|`Gv55|`Gv55|`Gv55|`Gv5 V કન-કરંટ એ�4નીયર%ગનો  િવચાર સમ2વો.   07 

 A �ડઝાઈન ફોર મે�Kફકચર ુ * (DFM)  અને �ડઝાઈન ફોર એસેoબલી (DFA) પર 

cંકનBધ લખોૂ .    

07 

 

******************** 


